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QUESTION 1

Which of the following statements about LAN switch is correct?

A. LAN switch is transparent for user, it does not modify the data field of the forwarded frame.
B. LAN switch can still operate normally even when loop exists.

C. LAN switch can detect loop according to the contents of the packet.

D. LAN switch can modify the data field of the forwarded frame when necessary.

Correct Answer: C

QUESTION 2

The Ethernet switch working in store and forward mode drops the frame with length smaller than 64 bytes.
A. True

B. False

Correct Answer: A

QUESTION 3

Interface-based ACLs define rules based on inbound interfaces of packets to filter packets. Run the "traffic-filter
command to invoke the ACL.

A. True
B. False

Correct Answer: A

QUESTION 4

Which of the following statements about the priority of zone in the Eudemon are correct?
A. The priority of the Trust zone is 80

B. The priority of the Untrust zone is 15

C. The priority of the DMZ is 50

D. The priority of the Local zone is 100

Correct Answer: BCD
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QUESTION 5

Which of the following statements are correct?

A. Both TE FRR and VPN FRR are used to protect tunnels, and therefore they can replace each other.
B. After VPN FRR is deployed, the end-to-end service convergence time is shorter than 1 second.

C. TE FRR Implements quick traffic switchovers if a PE becomes faulty.

D. VPN FRR implements quick traffic switchovers if a PE becomes faulty.

Correct Answer: B
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